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. . _ LAEG)=V+Es+T+P  T(%)=Tq-Ti/273+*100
7 A G1.6 A A Al - > )
: ‘ V(%)=I-Q/Q+*100 P(%)=Pi-Pq/Pi+ t}7]+*100
INEINSE Tq Qmax 0.2Qmax JIE=Jee pg Qmax 0.2Qmax
1°el 7.30 7.30 [Pa) 3200 3200
o o 079221 079221 079221 079221 079221 079221 089221 079221
it w2 029294 | 032782 022928 023238 034072 032790 004105 026782
e 100000 1| 100.60 L T | 10020 T | 100.00L 1 | 100.50L 1 | 100.40L_ 1 _1107.00L I _|101.00L 1T
2.5 m/n} 100.00L Q  Vp 0.00 050 0.20 0.90 0.50 020 166 0
&I HE Es -0.04 ~0.04 -0.04 -0.04 -0.04 | -0.04 -0.04 ~0.04
e = ——— ] Ti] 7.30 T 7.30 T | 7.30 T | 7.30 Ti |.7.30 T [ 7.30 T {730 T
2 |STUHSERSFAT 000 0.00 000 000 0:00 000 000 000
1 3700.00 Pi| 3000.00 Pl | 2950.00 Pl | 2900.00 Pi | 2800.00 Pi | 2750.00  bi | 2650.00  Pi | 2550.00 _ Pi
SN H@EAZSA P 0,10 0,19 —0.24 =029 —038 0,43 053 053
JHATDIE QAf [ +1.50%) E -0.14 0.27 -0.08 0.57 0.08 -0.07 0.43 033
7% PPV POt 700200 T | 10000 1 | 100.60C T [ 96800 T | 10070 1 | 100.90L 1 | 100.10L 1 110080 1
0.5 m/nf 100.00L Q V 520 010 0.90 050" 0.70 580 5.16 580
JIEN BB Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.18
2z S ——— )i T 780 750 T | 7.30 T 730 Ti | 7.30 T [ 730 730 T
¥ & |FTHOHREXREBAT 0.00_} 000 0.00 0.00 0.00 000 [ 000 500
—— — 378000 Pi| 3120000 Pi| 310000 Pr | 3080.00  PL | 3060.00  PI | 3040.00  PI | 3020.00 Pi | 3000.00 P
FEHNHA=AEZEA P ~0.02 008 —0.10 | 0,11 =013 015 047 019
TEADE 2K [ +1.50%) B 0.37 0.21 0.99 -0.12 0.76 (.94 0.12 0.80
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HEHL 2018/06/11 o3 XH NESBIIE
QAE(%)=V+Es+T+P T(%)=Tq-Ti/273+100
= | G1.6 oY ’ o 1 .
V{%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ th7] ¢+100
NEINEE Tﬂ Qmax 0.2Qmax JlE=J| 28 Pg Qmax 0.2Qmax
(°c} 7.30 7.30 iPa) ' 3200 3200
. o 084221 084221 084221 071221 131221 131221 084221 084221
& 003686 000097 003700 005418 001450 002224 000115 004061
3 0030 LI | 7000000 T | 700700 T | 70080L T | 70010L T | 700800 T | 700200 T [101.90L 1
25 m/hp 100.00L Q@ ¥ 530 650 670 0.30 ] 5.10 0.80 0.20 110
&I B Al Es -0.04 ~0.04 ~0.04 -0.04 ~0.04 -0.04 ~0.04 —0.04
© a1t : — T TPl 7.30 T 7.30 17730 Ti 1 7.0 Ti 1 7.30 Ti [ 7.30 i [7.50 T
N a4 |THOHBEEREINT 000 0.00 .00 00.00 - 0.00 000 000 0.00
\ . 310000 Pi1 3000.00 Pi| 2950.00  Fi | 2900.00  Bi .00 Pi | 575000 Pi | 2650.00 Pi 1255000 b
SHOHASASEFA P —0.70 —0.19 ~004 —0.29 —038 ~0.43 ~053 —0.63
JAUE i} [ £1.50%) E 0.16 -0.03 0.42 -0.03 -0.32 : 0.33 -0.37 0.43
3 T0030L T | 7008000 1 1 700800 1 | 700400 T [ 100500 1 ] 100700 T [7100.70L 1 |100.800L I
0.5 m/hp 100.00L Q V 030 080 030 .40 050 570 T 070 020
J1ET R Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
e 3 17730 Tl 7.30 T 7.30 T 1 7.30 T 1 7.30 7 1 7.30 T7 1 7.30 T [7.30 T
¥ a4 |FTHOHSBEQREIAT 0.00 1 0.00 0.00 0700 000 000 000 000
- 378000 Pi| 312000 Pi | 3700000  Pr | 3080.00 Di | 306000 Pi | 3040.00 Pl 1302000 i 1300000 b
SEHIHARNYR I P —0.00 =0.08 —0.30 =Nl ENE “07T8 “G717 ~0.19
TrATE 24X [ +1.50%] E 047 0.91 0.39 0.48 0.56 0.74 0.72 0.20
m’/hl
IEI BEK Es
ex [T
WA | FUNHESERSEXT
SZHOEES AR P
NANE SR ( % E
> Qmax(+/-15%) MHIIIFE) A4 (297mm x 210mm}

mEIIE




20 HAFZINESE X

11

FHEAMS JI=J| : 531628 HAIEA gx 73 ¢ ar 55 %
HE UL 2018/06/11 M H I I2AHDI(ZE)
. QAE@)=V+Es+ T+P T(%)=Tq-Ti/273+100
7 7 G1.6 oM A A
V(%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ d7]1&*100
JE=INISE Ta Qmax 0.2Qmax JI=J1e ™ Py Qmax 0.2Qmax
°c} ' 7.30 7.30 [Pa) 3200 3200
. o 084221 084222 084221 084222 084222 084221 084221 084221
& 9 000197 019111 004076 004902 005555 004191 003929 000208
3 To020 L T [ 70000 I | 100800 T | 100.80L 1 | 10050 1 | 101.10L T | 700.90C I |10040L 1
25 m/hp 100.00L Q V 020 000 0.30 580 556 T30 K0 0740
NEN 2AA Es ~0.04 ~0.04 -0.04 -0.04 -0.04 ~0.04 -0.04 ~0.04
2 x et o] 7.30 i1 7.30 Ti| 7.30 Tl 730 T 177.30 Ti | 7.30 Ti | 7.30 T 17.50 Ti
& |FHOHESHSZNT 000 0:00 | 0.00 3.00 000 900 000 | 000
" —on 1375500 b T 500000 i 2950.00 Bi | 730000 Pi | 2800.00  Pi | 2750.00  Pi | 2650.00 Pi | 2550.00 _ bi
& O EHe= AL P —0.10 —079 [ —0.24 —0.09 ~038 —0.43 ~553 —053
JNADIE QA [ +1.50%) E 0.06 _ -0.23 0.02 0.47 0.08 0.63 0.33 -0.27
3 5570 T T T 70080 L 1T | 10086 T [ 70020L T [ 100.80L 1 ] 700.70L 1 |100.10L T |10050 L 1
0.5 m/n} 100.00L Q V 070 1 5501 R 020 080 070 710 050
JIE BAXN Es 0.19 | 0.19 0.19 0.19 0.19 0.19 0.19 0.19
ex [ - 7750 T 7.30 T 7.30 Ti 1730 T 1730 T T 7.0 T 1 7.30 T 17.30 1
W & |THOHEEASIAT 0.00 | 0.00 000 .00 000 .00 5.00 000
318000 Prl 5720.00  Pi| 3100.00 DL 3080.00  Pi | 3060,00  bi | 3040.00  Pi_| 302000 Pi_|3000.00 _Di
HNHAHEGEZX P ~5.07 —0.08 ~0.10 —5.11 013 ~5.15 —0.17 =539
JEADE A { +1.50%] E 0.87 041 0.69 0.28 0.86 0.74 0.12 0.50
m°/h
ZigN 2384 Es
e x N A
¥ oa |THNHSEXEIAT
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AU} 2018/06/11 M I} Ny FIES
S RE(%)=V+Es+T+P T(%)=Tq-Ti/273%100
7 A G1.6 B M A ° oA
V(%)=1-Q/Q+*100 P(%)=Pi-Pq/Pi+ 7] ¢+100
INE=JISE Tq Qmax 0.2Qmax JI=7183 Pa Qmax 0.2Qmax
[°c] 7.30 7.30 [Pal ' 3200 3200
. o 084221 074221 134221 134221 139221 089221 139221 139221
7 & 003758 023832 204786 204784 017334 010199 017061 026702
3 G9.90L T | 10030L T | 10050L T | 100200 T | 700600 1 1 10070 T 1700800 1 1701200 I
2.5 mi/hi 100.00L Q V —5.10 0.30 050 720 | 080 070 030 .20
NEEI B Es -0.04 | -0.04 -0.04 -0.04 -0.04 -0.04 -0.04 ©-0.04
-2 (S aeprm—— _ 730 T 7.30 Ti| 7.30 Til 7.80 T | 7.30 T 1730 T 750 T | 7.30 1
X a |FRUHBEJRZIXT 000 000 0.00 000 .00 0.00 0.00 .00
. 4 310000 Pl 3000.00  Dil 2950.00 Pi| 2900.00 Pi | 2800.00  Pi | 9750.00  P% | P650.00 Pi | 255000 i
SHNHA=RSEAP =070 078 —0.74 —0.29 —0.38 -0.43 —0.68 | 063
ZADHE @7 [ +1.50%]) E -0.24 0.07 0.22 -0.13 0.18 0.23 ~0.27 0.53
i | T00.50 L1 | 100.80L 1 [ 100300 1 | 700.10L T [ 100600 1 | 100800 T 70030 1 1100900 1
0.5 m/np 100.00L Q V 9507} 050 T30 510 050 080 030 0770
JIET BRK Es 0.19 | 019 0.19 0.19 0.19 0.19 0.19 0.19
? & 7.30 T 7.30 Ti{ 7.30 Ti 1 7.30 T | 7.30 T 1 7.30 T 1730 T 1730 T
W a4 |FEHOIHEEREINT 000 0.00 0.00 0.00 0.00 0.00 0.00 000
318000 Pi] 3120.00  Di| 3100.00 P | 3080.00  Pi | 3060.00  Pi | 804000 Pl | 302000  Pi 1300000 DI
=HNEHASRZZXP ~502 508 =510 =011 =513 =015 —0.17 SONE]
AME 2K [ +£1.50%] E 0.67 1.01 0.39 0.18 0.56 0.84 0.32 0.10
m’/h
JET 2R Es
28 | annHe SRR
X A HOHSEEGEEX T
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NADE X [ %) E

mgJ=E

:Qmax [ +/-15%)
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HEUXL 2018/06/11 o H I SLHIN(Z)
. L SAB(®)=V+Es+ T+P T(%)=Tq-Ti/273+100
a & G1.6 AN A ° N
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ )71 ¥=*100
NEJIESE TY Qmax 0.2Qmax JE=Jies po Qmax 0.2Qmax
el 7.30 7.30 (Pa) 3200 3200
o 084221 084221 084221 084221 084221 084222 071221 084221
@B 001563 003650 006225 004176 004148 004618 018395 004140
3 00300 1 [ 89800 1 | 10060C 1 | 10090 T | 10040C 1 | 100.70L_ T | 101.30L 1 [101.00L 1
2.5 m/hj 10000L Q@ Vv 0.30 ~0.20 0.60 650 0.40 010 130 100
JEN BN Es -0.04 ~0.04 ~0.04 -0.04 ~0.04 -0.04 -0.04 -0.04
2 i - e i Ti| 7.30 Ti| 7.0 T1 [ 7.30 TL [ 7.30 T 730 Ti 1 7.30 T 1730 T
w a |THUHSEERTHAT 000 | 0.00 0.00 .00 000 0.00 0.00 000
—— 1370000 Pi| 300000 Pi| 2950.00 P | 2900.00 PL| 260000  Pi | 2750.00 Pi | 2650.00 Pl | 2550.00  Pi
FTNHS=AEF P =0.10 —0.19 —0.04 =079 =038 —0.43 —0.53 063
JFADIE 23X} [ +1.50%] E 0.16 -0.43 0.32 0.57 -0.02 : -0.37 0.73 0.33
3 T00.700 T | 10080L T | 10000 L 1 | 100.70L 1 | 10080L T | 100.50L 1 1 10080L 1 |100.20L T
0.5 m/h] 100.00L Q V 0.70 O .00 010 0.60 | 0.50 030 020
NET BAX Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
2 i - o 730 Ti] 7.0 T 780 TL[ 7.30 T 730 T 730 Ti | 7.30 T 1 7.30 T
w a4 |THONHBSENEZBIAT 000 0.00 0.00 0.00 0.00 0.00 0.00 0.00
- - 378000 i 312000 Fi | 3100.00  Pi| 3080.00  Pi | 8080.00 Di | 3040.00 Pi | 302000 Pl |3000.00 P
=HIHSHGEZA P —0.02 —0.08 =0.10 =011 =] —0.15 =017 —0.19
JHATIH 22 [ £1.50%] E 0.87 0.91 0.09 0.18 0.66 0.54 0.32 0.20
mS/h .....
JIEN LB X Es
ex [ —
> NERI =T 3 P
JtAME 2K ( %1 E
MAIIE : Omax(+/- 1.5%) M2AHII=) A& [207mm X 210mm}
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LR 2018/06/11 Y |2 H (=)
QAE(®%)=V+Es+ T+P  T(%)=Tq-Ti/273+100
7 4 G1.6 H oM A 0 _ _
V(%)=1-Q/Q+100 P(%)=Pi-Pq/Pi+ t]7}$+100
NEINE2E T Qmax 0.2Qmax J1=7128 Pag Qmax 0.2Qmax
°c} ' 7.30 7.30 [Pal 3200 3200
= s 084221 084221 084222 084221 084221 084221 084221 084221
2 = 004158 003792 004648 000228 000213 003574 005891 004170
; 10070 T | 10050 L T 1 10070L 1 ] 10090L I | J00.60L 1 | 10080L T 110020C 1T 1107400 1
25 m/h) 100.00L Q V 070 050 070 6161 080 0.30 0.20 110
&7 BEKN Es —0.04 | -0.04 -0.04 -0.04 -0.04 ~0.04 ~0.04 -0.04
=35 (T S— 7.30 T 730 T 750 T T 730 T 7.30 T 1730 T 17.30 L 1730 T
¥ a4 |THIHEERRIXT 0.00 000 0.00 0.00 0.00 0.00 0.00 000
— 3700.00 P | 3000.00  Pi | 295000 Pr | 2900.00 Pi | 2800.00  b. | 5750.00 Pi | 765000 Pi 12550.00 D
SHUHSSASEEN P —5.10 =019 024 =029 —0.38 ~0.43 —0.53 =063
JEADIE K[ +£1.50%) E 0.56 0.27 042 -0.23 0.18 -0.17 -0.37 0.43
3 — T00 50 1 | 10030 L 1 | 100000 1 | 10060L T [ 100800 1 | 100700 T 110080L 1 1100801 1
0.5 m’/hf 100.00L Q v 050 0.30 0.0 0.60 0.30 570 .90 .80
JIEI BEN Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
e - 7730 T 7.30 Ti] 7.30 Ti 1 7.30 T 7.30 Ti [ 7.30 T [ 7.30 T 17730 T
Ay |FEHUHEEREIXT 000 000 0.00 000 0.00 0.00 0.00 0,00
3780.00 Pi | 3120.00  Pi| 3100.00 P | 3080.00 Pi | 3060.00  Pi | 3040.00  Pi | 3020.00 P 1300000 i
SHIEASNGEIA P —0.07 ~0.08 =010 0.1 0,13 —0.15 ~0.17 ~0.19
JHAOIE RA [ +1.50%) E 0.67 0.41 0.18 0.68 0.36 0.74 0.92 0.80
m’/h
@I BE X Es
¥ a4 | SHUESSXEENT
#HOE =L S 2l P
NADEH 24 [ %j E

LHIE :

Omax [ +/- 1.5% ]

HL2ADINF)
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AU 2018/06/11 NI ARHI(E)
— L Q@ AE(%)=V+Es+T+P T{%)=Tq~Ti/273+100
= G1.6 A NN 0 S
V(%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ t)7]*100
IEIRE TQ Qmax 0.2Qmax Ji=71er9 Pa Qmax 0.2Qmax
{°cl 7.30 7.30 [Pal ' 3200 3200
. e 074221 084221 139221 081221 131221 081221 071221 131221
R = 023893 004206 017335 003753 009574 002187 018201 009554
3 0060 1T 1 10020 T | 10050 1| 100.30L T | 70080 T | 10040 T {10060 1 |100.80C 1
25 mi/n} 100.00L Q V 0.60 0.0 0,50 6730 0.80 0:10 060 | 0,80
NEN BN Es -0.04 -0.04 -0.04 -0.04 -0.04 -0.04 -0.04 -0.04
2% |[mmrmecaomd Tl 1,00 T 730 T 7.30 T 730 T 7.30 Ti | 7.30 Ti | 7.30 T 1730 T
u a4 |FHUHEZARZEIT 0.00 000 0.00 000 0.00 0.00 OX] 000
| —— . 370000 PL| 300000 DI | 2050.00  Pi| 290000 Pi | 2800.00  Pi | 2750.00  Di | 2650.00 Pi | 2560.00 _Di
_|FHUHA=EAZIEN P ~0.10 =019 ~0.24 ~0.29 =038 =043 —0.53 =053
JPABIE 2K [ +1.50%) E 0.46 -0.03 0.22 ~-0.03 0.38 -0.37 0.03 0.13
3 0030 L T [ 700200 1 | 10080 C 1 1 10056 L 1 | 100,70 L L | 700.60L 1 | 10040C T [100.70L I
0.5 m’/h] 100.00L Q V 030 0.20 050 520 070 0,60 040 570
IS BEN Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
2 1 - o ] 730 T 730 T 730 T 730 T1 [ 7.30 T 1730 T (730 1730 (N
o & |FEIHSB=EAZZAT 0.00 000 0.00 0.00 000 0.00 000 000
- 780,00 P 372000 Pr| 3100.00  Pi | 3080.00  Pi | 306000 Di | 3040.00  Pi_| 8020.00  Pi |3000.00 Pi
I HA=AZZN P —0.02 =0.08 =010 0.1 =013 ~5.15 —0.17 0,79
JtAGIE 24 [ £1.50%) E 047 0.31 0.59 0.28 0.76 0.64 0.42 0.70
. i
FEI B Es
R
SHNHYHEGYE P
FADIE 2% [ % E

nENE

: Qmax (+/- 1.5% !}

L2 HII(=F)

Ad (287mm x 210mm}
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LY 2018/06/11 NP HRI(=)
. O FIE(%)=V+Es+ T+P  T(%)=Tq-Ti/273*100
F 1.6 WM A ° .
V(%)=1-Q/Q+100 P(%)=Pi-Pq/Pi+ t7]1%+*100
NEINEETA Qmax 0.2Q0max JI=JI9® Pq Qmax 0.2Qmax
el 7.30 7.30 [Pal 3200 3200
- 084221 084221 084222 131221 071221 071221 139221 139221
& o 003992 003642 004860 002222 016343 017916 017051 017060
3 0050 L T 1 300700 1 | 99700 1 | 70060 1 | 10030L T | 100.70L I _|101.d0L 1 [101.00L 1
25 m/h| 100.00L Q Vv 020 0.10 630 5.60 030 0.70 110 700
A& BAA Es ~0.04 ~0.04 ~0.04 ~0.04 ~0.04 -0.04 ~0.04 ~0.04
2 1 —— 730 1 730 I 7.30 1730 T 1730 T | 7.30 T | 7.30 T 19730 T
¥ a |THUHEZRSIAT 0.00 3.00 0.00 5700 000 0.00 0100 0.00
T 310000 P 300000 Pi 1 295000 b. | 2800.00 DL | 2800.00 FPi | 2750.00  Pi | 2650.00 DI | 2550.00  Di
SAUBEYEGEHA P —010 —0.19 —0.94 —0.55 —0.38 —0.43 ~0.53 —0.63
JPADIH @A [ +1.50%) E 0.06 -0.13 ~(.58 0.27 -0.12 0.23 0.53 0.33
3 0050 LT | 10046 T [ 70080L 1 | 100301 1 [ 100700 1 | 10030L I | 100.10L 1 [100.40L 1
0.5 m'/nh} 100.00L Q V 030 040 080 030 970 03D 010 0,40
@I BN Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
e x » 7730 i1 7.30 750 T 7.30 IR T [ 7.30 T 17.30 1730 T
W a4 |THUNHEERZZAT 0,00 0700 0.00 0.00 0.00 0.00 0°00 000
. 3TE600 P 510000  Pi [ 310000  Di | 3080.00 Pi | 306000 Pi | 3040.00  Pi | 3020.00 Pi_ 1300000 Di
+HOHARYEBA P —0.00 ~5.08 —0.10 =Nl —0.13 ~515 ~517 ~5.15
JPAUIE LA [ +£1.50%]) E 0.37 0.51 0.89 0.38 0.76 (.34 0.12 0.40
mslh
JNEH ERA Es
28 |sungesseEdT
SHMEYEAE SR P
IATE 2K ( %) E
mXIIE - Qmax [ +/- 1.5%) MHITIF] A4 (297mm X 210mm}
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HEUAL 2018/06/11 8T =5 pIIES
: . . QAE%)=V+Es+T+P T(%)=Tq-Ti/273*100
7 4 G1.6 N A ’ o
‘ V(%)=1-Q/Q*100 P(%)=Pi-Pqg/Pi+ 7] %}+100
NENRE TA Qmax 0.2Qmax JiE=J124% Pa Qmax 0.2Qmax
1°c) 7.30 7.30 [Pal 3200 3200
oW & 081221 131221 131221 131221 084221 084221 084221 071222
2 007879 | 001437 002227 001443 003720 015067 003618 002567
3 5580 T 1 70050 1 | 100300C T L 100100 1 | 10050 1 | 100.90C 1 _|101.00C 1 __[100.80L_ 1
25 m/hj 100.00L Q@ W 0307} 0.50 030 9.10 0.50 3.90 100 080
&0 BEN Es -0.04 -0.04 -0.04 -0.04 ~0.04 -0.04 -0.04 -0.04
@ % S I T Ti|_7.30 Ti] 7.30 Tit 7.30 Ti } 7.30 Ti | 7.30 Ti | 7.30 Ti | 7.30 Ti
n & |FHIHSEXREIAT 0.00 000 0:00 000 700 000 0.00 000
‘ e — 1370000 PL| 3000.00 DL | 2950.00  Pi | 2000.00 Pi | 2800.00  Di | 2750.00 Pi | 2650.00 Pi_|2550.00 Pi
SHOHASKRERX P 0,10 015 ] =024 —0.29 | 038 0,43 0,53 0.8
FADIE 2K [ £1.50%] E. -0.34 0.27 0.02 -0.23 0.08 0.23 0.43 0.13
3 ' 5B T T 10030 L 1 1 70070L 1 [ 16000C T [ 10050L I | 100.10L 1 | 100.00L 1 |10040C T
05 m/h} 100.00L Q Vv .80 330 6.70 .10 ) 0.70 000 040
JEI BEA Es 0.19 0.19 0.19 0.19 0.19 0.19 0.19 0.19
e n ” 730 TT[ 7.30 T 7.80 T 730 TI 1 7.30 T | 7.30 T1 |7.30 T [7.30 T
o & |THOHEEXASESXT 0,00 000 500 000 0.00 000 000 000
' - 378000 P | 312000 Pi| 3100.00_Pi | 3080.00  Pi | 3060,00  Pi | 3040.00 DI | 3020.00 Pi |3000.00 Pi _
FHOHARARIA P ~0.02 —0.08 =6:10 —0.11 =0.13 —0.15 —0.17 =019
JEADIE 2/ [ £1.50%] E 0.97 0.41 0.79 0.18 0.56 0.14 0.02 0.40
m'/h .
JIEH HEA Es
2R | iynH2EREHN T
Wa | T '
SEHOEHS=RAESEA] P
IADE @K [ % E

BEIE

: Qmax{+/- 1.5%)
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HAMT J1=2| : 531628 HASE 2% 73 ¢ BE5 %
HE8 X 2018/06/11 MM X} NESENES
O FE(%)=V+Es+ T+P T(%)=Tq-Ti/273*100
7 #A G1.6 WA A 7 > .
V{(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ %] 7]%}+100
N=JI=2% Tq Qmax 0.2Qmax JI=J18¥ Pg Qmax 0.20max
[°C}) 7.30 7.30 [Pal 3200 3200
o 071222 071222 088222 088222 084222 134221 089221 139221
2 & B 002023 002506 003612 003658 004830 004412 012639 000294
; 5050 T T T 30000 L T 1 ToT70C T | 10100 T | 100.60L 1 | 100.80L I 170070 I |107.20L 1
2.5 m/nhp 100.00L Q v 550 5.00 1770 700 0.60 080 570 120
NET| BN Es -0.04 ~0.04 0.04 ~0.04 ~0.04 ~0.04 ~0.04 ~0.04
® 1 - ‘ 730 T 730 T 730 T [ 730 T T 7.30 T 1T730 T [ 750 Ti | 7.30 T
X a4 |FHUHBEXSIXT 0700 | 000 000 0.00 500 1 0.00 0:00 000
- IT00 00— i1 300000 Pi | 205000 Pi | 7000.00 P | 2800.00 Pi | 7750.00  Pi | 2650.00  Pi | 2550.00 PP
FHOHYEGHEFN P ~0.10 | =019 004 =029 —0.38 —0.43 053 063
JPAOIE 2K [ £1.50%] 2> 0.36 5 -0.23 0.82 0.67 0.18 033 0.13 0.53
3 50T T 1700861 T | 700300 1 [ 00400 T | 10030L 1 | 99.80L 1 | 100.80L 1 ]i00.70C 1
0.5 m/hf 100.00L Q V 010 080 030 010 030 920 080 070
INEH BEN Es 0.19 | 0.19 0.19 0.19 0.19 0.19 0.19 0.19
2x | 750 T 730 T 730 T T 7.30 Ti T 7.50 T 1730 T 1730 T {7.30 T
» a4 |FHOHESEAZIXT 0.00 0.00 000 000 0.00 500 0.00 0.00
' TE000 BT 312000 Pr | 310000 P | 308000 bi | 3060.00  Pi | 3040.00_ Pi [ 3020.00 PL 13000.00 PI
THOEHYSNAEEAP ~5.02 | —0.08 ~5.70 —0.11 ~0.13 =015 —0.17 019
NATEH 2K [ £1.50%) E 0.27 0.91 0.39 0.18 0.36 -0.16 0.82 0.70
m°/h
INEI BEA Es
exn [T -
SN HY=ALE K| P
NADE R ( % E

mE7IE - Qmax [ +/~ 1.5%)

AULADIF)

A& [297mm x 210mm]
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A0 HAEI S X

BHyup 21E7  Grib2S dME3E | 0 Rx 73 °C &% 65 Y
HE AT 2018/ ob / | M T} NESTPIES) |
SAR(%)=V+Es+T+P  T(%)=Tq-Ti/273+100
° = G b e A V(%)=1-Q/Q*100 P(%)=Pi—P;/Pi+ o) 7] $H+ 100
HEIEE TG Qmax 0.2Qmax JEZeH Py Qmax - 0.2Qmax
[°ce 7.30 7.30 [Pa) 3200 3200
o e @ )2 123200 ogirut
o127 oot | oe70Ug
m’/h] 100.00L Q v
.7!-.’«-_57] HEA Es
Jﬁg SZMEREHEK T
=N ALRBEK P
HADE 24 [ +1.50%]) E
m'n| 100.00L Q V|
NEI FEN Es
» N |rzunesnmanT
SHOE AR REA P
TPAME X § £1.508] B
m'/h
HEI HFA Es
Moo |smuszsnzEnT
SHNEYERSHR P
NADE A [ %) E

THIE @ QOmax [ +/- 15%] AMAHIDIE) 7 A8 {297mm x 210mm}




Qmin &2 8 7| £ X

| 2Agaman) | 0.016 [ 7 3 | 161
A 2018-02-12 A2 H716 BEE | + 3% chzI2kpay | 101340
2 & 73 C & & 55% ALE2|&E0[g 537305
Bench no. 3 4 5 6 7 8
2 2 d sz 2102 079221022928 | 079221023238 | 079221034072 | 079221032790 | 089221004105 | 079221026782
S d0|E S [ 9.90 10.00 10.10 9.80 10.19 9.90 9.80 1000 |
7| E0|H St Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
NEE V=(1—Q}/ QX100 -1.00 0.00 1.00 -2.00 1.00 -1.00 -2.00 0.00
7|E0[EH2FA Es +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8
i: I EOHED Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 FHOE2E Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.20 7.30
o | EEEFX (%) T=(T9-TD)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| E 0 E L& (Pa)Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
70| E{ & (Pa)Pi 2480.00 245222 2424.44 2396.67 2368.89 2341.11 231333 2285.56
LHEEHK| P=(Pi—Pq)/(Pi+PA)X100 -0.02 -0.05 -0.07 -0.10 -0.13 -0.15 -0.18 -0.21
2| & E=V+Es+P+T -0.22 0.75 1.73 -1.30 167 -0.35 -1.38 0.59
o B (£3%) 0 0 0 0 o) 0 0 o)
Bench no. 9 10 11 12 13 14 15 16
78 Y= 084221003686 | 084221000097 | 084221003700 | 071221005418 |- 131221001450 | 131221002224 | 084221000115 { 084221004061
=0 E Sz | 9.80 10.10 10.00 9.90 10.00 9.80 10.10 10.00
NENHESHE Q 10.00 10.00 10.00 10.00 10.00 16.00 10.00 10.00
d8E v=(I-Q)/QX100 -2.00 1.00 0.00 -1.00 0.00 -2.00 1.00 0.00
7 Z0HEHA Es +08 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +08
;L LS Tq 730 7.30 7.30 7.30 7.30 730 7.30 7.30
A +40gH2E Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
o | EEEEX (%) T=(Tq—TD/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7|1 =0 Y & (Pa)Pq 250000 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
= Z{D]E Y H(pa)pi 2257.78 2230.00 2210.00 2190.00 2170.00 2150.00 2130.00 2110.00
YHBPHK] P=(Pi—Pq)/(Pi+P4) 100 -0.23 -0.26 -0.28 -0.30 -0.32 -0.34 -0.36 -0.38
rNy E=V+Es+P+T -1.43 1.54 0.52 -0.50 0.48 -1.54 1.44 042
o H (£3%) 0 0 o} 0 o} o} o] o}




| A msn) | 0.016 ] 7 | 161
2 At e 2018-02-12 A2 7|6 HyHI|IE | £ 3% Ch2)gtea) | 101340
2 5 73 = 55% A7\ Z0g 537305
Bench no. 17 18 19 20 1 2 3 4
7l e ¥ = 084221000197 | 084222019111 | 084221004076 | 084222004902 | 084222005555 | 084221004191 | 084221003929 | 084221000208
A0 &It ! 1000 10,10 10.00 9.80 10.10 9.90 10.00 10.10
7| &= 0[E Sat2 Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 1000
o= V=(1—Q)/ GX100 0.00 1.00 0.00 -2.00 1.00 -1.00 0.00 1.00
7|E0|E 2™ Es +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +038
;: JE0H2E Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A THOEHEE Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A | EEEBR(%) T=(Tq-Ti)/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 .00 0.00
7| E0/E{ Y3 (Pa)Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
SZ0/E Y H(Pa)pi 2090.00 2070.00 2050.00 2030.00 2480.00 2452.22 242444 2396.67
LUHEER p=(Pi-Pq)/(Pi+PA) 100 -0.40 -0.42 -0.44 -0.45 -0.02 -0.05 -0.07 -0.10
71 A E=V+Es+P+T 0.40 1.38 0.36 -1.65 1.78 -0.25 073 1.70
i) H o(+£3%) o] 0 0 Q 0 0 0 0
Bench no. 5 6 7 8 9 10 11 12
B Y= 1084221003758 | 074221023832 | 134221204786 | 134221204784 139221017334 | 089221010199 | 139221017061 [ 139221026702
+=Z0/HEatE I 10.00 10.10 9.80 10.10 10.00 990 10.00 10.10
7| &E0[E{ S at2 Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
TpeLE v=(1-0)/QX100 0.00 1.00 -2.00 1.00 0.00 -1.00 0.00 1.00
J|EOE2HA Es +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8 +0.8
;: JEOH e Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 =02 Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
o | BEEERN®%) T=(rg-T/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| =0 E g (Pa)Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
A0S H(Pa)Pi 2368.89 2341.11 2313.33 228556 2257.78 2230.00 2210.00 2190.00
oty R K| p=(Pi—Pq)/(Pi+PA)X100 -0.13 -0.15 -0.18 -0.21 -0.23 -0.26 -0.28 -0.30
7| &t E=V+Es+P+T 0.67 1,65 -1.38 1.59 0.57 -0.46 0.52 1.50
o H (£3%) o) 0 o) o) o) 0 O 0




20 HAZI S X

HEMS J1Z=7| : 531628 HABA 85 73 0 255 %
AU 2018/06/11 M H X MSATI(=)
| - O AE(%)=V+Es+T+P T(%)=Tq-Ti/273+100
7 A G2.5 . I~ I ’ o
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ 71100
NEINEE T Qmax 0.2Qmax =D PO Qmax 0.2Qmax
°c1 7.30 7.30 [Pa) 3200 3300
. o 133311 133311 133311 133311 133311 133311 163311 133311
0 om w2 021937 053629 013762 055295 022356 014267 066392 021790
; TS0 T T T 70760 T | 10150 L 1 | 709,000 I [ 0240 T [ 10130C_ 1 [T0T.f0L T 170200L I
40 m/ni 100.00L Q V 1.80 170 1.50 1.00 23071 1230 70" % 2.00
2@ HEA Es -0.55 | -0.55 -0.55 -0.55 -0.55 -0.55 ~0.55 ~0.55
R e e aumn Tl 730 Til 7.80 Ti| 7.30 T 7.30 T 1 7.30 Ti | 7.30 T 17.30 Ti 17.30 Ti
A u |TUUHEEASENT 500 000 R I 000 000 500 0:00
' . = 55556 P 80000 P | 275000 Fi | 2600.00  Pi | 2400.00 Pi | 2250.00 _Pi | 2100.00 _Pi |1900.00 ~Fi
SO HSEREIN P ~0.14 ~0.38 ~5.43 —058 —0.77 —0.97 —T.06 106
JEAOIE &X [ +1.50%] E 1.21 0.77 0.52 -0.13 0.78 -0.17 -0.51 0.19
3 ' —~5090 T T | 700000 | 10L.20 L 1 | 100.40L T | 100.80L 1 110160 1 170070L T~ T701.20L_I
0.8 m/hf 100.00L Q V 030 050 150 040 080 150 570 1 730
J1EI BEN Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
-3 I S - 750 i 7.0 T 7.30 i1 7.30 T T 7.30 1 | 730 T 17.30 T 1730 T
3 & |FHOHESEAZRAT 0.00 | 0,00 0,00 0.00_| 0.00 0.00 000 .00
' — 500 P 315000 Pi| 317000 Pi| 817000 _Pi| 3150.00 _Pi | 810000 _Pi |'5050.00 i _|3000.00 _Fi
SHUNHARAEIA P =0.10 ~§14 =512 —0.12 —0.74 =0.19 ~0.04 ~5.20
AABIEH A [ £1.50%] E 0.86 0.82 1.14 034 0.72 1.37 0.52 0.97
m°/h
A1 2R Es
2% |suusesazzAT
SANEHYSE R P
NANE 2% ( %) E

mxJ|= : Qmax [ +/- 1.5%]

MU

Ad [297mm x 210mm]
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AODHAEAAINE=EI
P ) e | a NEX
H-@E J1EJ] : 531628 HAsA &g 73 ¢ &xE55 %
HEYX 2018/06/11 M H I AMLADN(F)
. O AE%)=V+Es+ T+P T(%)=Tq-Ti/273%100
At | G2.5 H oA , _
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t] 7] &+100
NE=IJISE 1A Qmax 0.2Qmax NETI4% Pa | Qmax 0.2Qmax '
1°cl 7.30 7.30 [Pal 3200 3300
. . 139311 164311 139311 164311 139311 139311 139311 139311
7 o= #- 018123 006903 043180 011445 018410 035299 034226 033355
; 5T T T 1 0T8T | T0i40L T | 10180 1 [ 102.10L 1 | 702.20C 1_|10240L 1 J101.60L 1
4.0 m'/h} 100.00L Q V¥V 150 130 140 180 501 550 540 60
FET HAA Es ~0.55 ~0.55 ~0.55 -0.55 ~0.55 ~0.55 ~0.55 ~0.55
- 35 S S ————— 730 T 7.30 T [ 7.30 T 730 TL1 7.30 T 7.30 T1 |.7.30 T 1730 T
X a |FHUHSSXZZAT 000 .00 500 .00 000 0.00 500 0.00
- ——————— 555,00~ BT | 280000 P | 2750.00 DI | 2600.00 . Pi | 240000 _ Pi | 2250.00 Pi | 2100.00 _DPi [1900.00 _ P
FHUHARAEZEA P 014 538 —043 =058 —0.77 0.2 ~1706 176
JFABIEl 2K 1 +1.50%] B 0.51 0.97 042 0.67 _ 0.78 0.73 0.79 -0.21
3 ; — 0070 T 170080 T T | 701,00 T | 100.40L_ 1 [ 100200 1 | 101.10C 1 _[100.60L 1 J10140L 1
0.8 m/hf 100.00L Q& VvV 070 0.80 7.00 0.0 020 110 0.60 110
JIE7 BEX Es 0.08 | 0.06 0.06 0.06 0.06 | 0.06 0.06 0.06
¢ x — o 730 T 730 T 7.30 T 730 TI 1730 T 7.30 T 17.80 T 730 ghi
¥ a4 |THUHSERZBAT 0.00 0.00 0.00 0.00 0.00 0.00 | 0.00 000
- o000 BT BTE0.00  Pr [ 317000 Di | 317000 DLl 315000 Pi | 3100,00 Pi | 3050.00 _Pi |3000.00 Pi
FHIHAMAPLZEX P —0.10 —0.14 ~§.12 —0.12 =014 —0.19 —0.24 —0.29
NADIE AR [ £1.50%] E 0.66 0.72 0.94 0.34 0.12 0.97 042 0.87
m°/h
2T B Es
oA | FHOESEXNSIKT
SO EHYSAE AR P
JIADIEH 28 [ % E

mMAEINE

: Qmax (+/- 1.5%]

HULADIF

Ad (287mm x 210mmi




20 H&E &8

= X

111

Il
=]

i
gy JIED - 531628 2 AL 25 73 0 =% 55| %
Eﬁﬂlf&l‘ 2018/06/11 MM T A HI|(F) |
S AE(%)=V+Es+T+P T(%)=Tq-Ti/273+100
7 # G2.5 A A ’ oA
V(%)=1-Q/Q+*100 P(%)=Pi-Pa/Pi+ 7] ¢+100
NENEE T Qmax 0.2Qmax JIZ=J| e e Pa Qmax 0.2Qmax |
°el 7.30 7.30 [Pa) ' 3200 3300 |
s 139311 139311 134311 139311 139311 174311 139311 139311
7 = o 030737 035376 028392 035253 043119 018723 018322 018566
3 T00.90L 1 | T01.50L 1 1 10050L 1 | 107.90L 1 | 702.00L 1 | 101700 T 170220 L T (70160 1
4.0 m/ml 100.00L Q V 0.90 | 750 0.50 150 5001 170 550 T80
IEI BEK Bs ~0.55 -0.55 -0.55 ~0.55 -0.56 ~0.55 -0.55 -0.55
35 S ST ——————— Ty Ti| 7.30 Til 7.30 Ti{ 7.30 Ti 1 7.30 T 1730 Ti | 7.30 Ti [7.30 Ti
¥ a |FANHSEREIAT 000 0.00 0.00 700 000 0.00 0.00 0.00
. ~ | 3050.00  Pi | 2B00.00 Pi| 2750.00 Pi| 2600.00  Pi | 240000 b1 | 225000  Bi | 210000 B 1790000 B
SHNEHYSEAAERX P —0.14 =0.38 —0.43 =0.58 =0.77 —0.92 -1.06 —1.26
JFATIE @K [ +1.50%]) E 0.21 057 -0.28 0.77 0.68 0.23 059 | -0.21
3 — 100.80L 1 | 9990 1 [ 10080L 1 | 10030C T 1701000 T | 100400 1 170080 1 |700800 1
0.8 m/hf 100.00L Q V 0B =010 050 030 100 040 080 089
&I BRA Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
-3 ' vy 730 Ti| 7.30 T 730 Ti 1 7.30 T T7.30 T 1 7.30 T 1730 T 17.30 T
» & |THUHSSAEZBAT 000 0300 0300 0:00 000 000 000 000
. 350000 Di| 3150.00  Pi| 3170.00  Pi| 3170.00 Pi | 315000  P; | 3100.00 Pi | 305000 I1Pi |300000 b:
SHONEHARYGEZA P =016 ] ~0.14 —0.12 =012 —0.14 ~0.19 =024 =029
JHADE LA [ +1.50%] E 0.76 -0.18 0.74 0.24 092 0.27 0.62 0.66
m’/h} ,
JEN BEK Es *
2R mpeEEEN T :
e T |
A EA=IEHA P |
JADE R ( % E ;
MEI|ZE : Omax [ +/- 1.5%] MHIN(F) A4 (287mm X 210mm}




JhrA201H & 8J1 = X

1

HEBHT J1Z=D] : 531628 HANEH 25 73 ¢ &G 55 %
HEUX 2018/06/11 MM T RESTRIES
. _ QAB%)=V+Es+ T+P  T(%)=Tq-Ti/273*100
A # G2.5 H oA Al > .
V(%)=I-Q/Q#100 P(%)=Pi-Pq/Pi+ th7]4+100
NEINLE T Qmax 0.2Qmax JiI=JieH4 Pg Qmax 0.2Qmax
°e) 7.30 7.30 [Pal 3200 3300
N 129311 174311 139311 139311 139311 139311 139311 139311
.= 024206 018661 017974 018254 | 018324 018279 018323 047949
3 0700 T 1 10000 T | 707000 T | 101700 T [ 106.000 1 | 102900 I 1102400 T 702600 1
40 m/hp 100.00L Q Vv 100 100 710 170 550 530 540 55O
FEI BN Es _0.55 ~0.55 ~0.55 ~0.55 -0.55 ~0.55 —0.55 ~0.55
2 x - - 730 T 730 T 7.30 1730 T 7.30 T T 750 1730 T [7.30 T
» u |THOHBEXNZFAT 000 000 000 0.00 0.00 0.00 3.0 0.00
: ; 305000 P 800,00 Pl 275000  Di| 2600.00  Pi | 2400.00 P | 2950.00  Pi 1210000 Pi ]1900.00  Bi
+HOHY=AEIEA P 014 —038 | ~073 —0.58 =0.77 ~5.00 —106 =106
JtAWE X[ +1.50%] E 031 .07 0.12 0.57 0.68 0.63 0.79 0.79
3 — T0080 L T 70080 T 170100 T 1100800 T [ 100500 1 [ 700500 1T [700000 T 10120 L 1
0.8 m/hf 100.00L Q V N D) 1700 0.60 050 550 0,00 750
JIEH BEX Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 i e 730 T 730 T 730 T7E0 T 7.30 T 1730 T 730 730 T
x o |FHOHESHZEAT 0:00 1 500 900 000 000 000 000 000
. T500.00 bi 1 318000 Pi| 317000 Ti | 317000  Pi [ 375000 Pi | 310000 DL | 3050.00  Pi 300000 b
=EHUHARYGEZA P =010 | ~0714 —0.17 —0.12 <0.14 ~019 =004 029
JEAOIE 2K [ £1.50%) B 0.76 0.72 0.94 054 042 0.37 -0.18 0.97
m'/hj
=N HEA Es
= 8 |+avnBesmsgaT
+HO BB ALEBA P
NATIE 28 [ % B
oOMIIE - Omax(+/- 1.5% ] M2HIIE] Af (297mm X 210mm}




Jr2 00 &

g Jl

Xl

LA

HS-HY J1Z=2) : 531628 HAEA 2% 73 ¢ &xE 55
HEEI 2018/06/11 R AT (=)
. QAE@®)=V+Es+ T+P  T(%)=Tq-Ti/273%100
3 + G2.5 H oA _ _
V(%)=1-Q/Q+100 P(%)=Pi-Pq/Pi+ 7] &=*100
JIETIISE Iq Qmax 0.2Qmax Ji=7128 Pg Qmax 0.2Qmax
[°c} 7.30 7.30 [Pa) 3200 3300
o 139311 139311 - 139311 139311 139311 139311 174311 139311
1w 024726 000694 030734 048055 044903 018252 024802 034135
5 TOTB0L T | 10760 1 | 707700 1 1 J01.80L 1 [ 101800 1 [ 102900 1 | 10740C 1 f101.90L 1
4.0 m "h; 100.00L @ v 780 10 170 1.80 180 510 .40 156
JNET BERX Bs -0.55 -0.55 ~0.55 -0.55 ~0.55 -0.55 -0.55 -0.55
e i 1 750 T 730 Ti] 7.30 Ti | 7.30 Ti| 7.80 T 7.80 T 17.80 Ti (7.0 Ti
A a |THOHSEXRZINT 000 | 0.00. 0.00 00| 5.0 5.0, 000 0.00
~anma=gmzn | 205000 | 2800.00_0.31;1 2750.00 PT| 260000 _FI| 2400.00 PI 225000 _ PI| 2700.00 Pl [7900.00 T
FHADIE 2K [ +1.50%) E 091 . 0.67 0.72 0.67 048 0.63 -0.21 0.09
3 1T 70020 T | 10060 T [ 70080 T | 700.00C T [ 100.20L 1 [ 101.00L T [100700 T 101300 1
0.8 m/nf 100.00L Q V 530 060 080 5,00 530 7700 070 770
JEI BB Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
ex I \ 7730 i1 730 T 730 T 1780 T 7.30 T 7.30 T 1730 Tr 17.30 TS
¥ & |THIHSEREZAT 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
P 350000 Pi 1 315000 P | 317000 Pi| 817000 Pi | 315000 Pl | 3100.00 _Pi | 3050.00 pi 1300000 b
SHIHA=AGEZA P —0.10 —0.14 ~0.12 =0.17 ~0.i4 Z0.19 —0.24 —0.00
TATE & [ +1.50%]) E 0.16 052 0.74 -0.06 0.12 0.87 0.52 0.87
m°/h '
JNEN BEN Es
§ g +HNHE SRR T
SHNHLHREHA P
JADEH 2K ([ %) E
mEI=E : Qmax(+/- 1.5%] M2H 71(F) A4 [297mm x 210mm}
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AO0HZAAINE X
A0 & N E X
H-HD J1Z=3| : 531628 HAIEE 25 73 ¢ @555 %
LR 2018/06/11 M8 X ES Pt
. QAE(%)=V+Es+ T+P T(%)=Tq-Ti/273+100
7 7 G2.5 H A4 ’ > _
V(%)=1-Q/Q*100 P(%)=Pi-Pqg/Pi+ 7] $H+100
I=JI2E Tq Qmax 0.2Q0max Ji=JI1eE P Qmax - (0.2Qmax
°c) ] 7.30 7.30 [pPal 3200 3300
| ° 139311 139311 134311 133311 133311 133311 133311 133311
2T BB 018244 033470 025182 032510 086749 067863 045795 067859
3 T07.30L_ 1 | 101.70C 1 | 101.00L T ] 107.10L I [ 101.60L 1 [ 101.70L I _[102.50L 1 [102.30L 1
40 m/hp 100.00L Q Vv 136 170 100 116 T80 776 550 530
 J1E] 2AA Es ~0.55 -0.55 -0.55 ~0.55 -0.55 -0.55 ~0.55 -0.55
-3 , ‘ 7.30 Ti| 7.30 il 730 51730 Ti [ 7.30 Ti | 7.30 Ti [ 7.30 Ti 7.0 TS
N a |TUHUHEERZIXT 000 000 900 000 0.00 0.00 90 000
— 3050.00 Pi | 2800.00  PLl 2750.00 Di | 2600.00 Fi | 2400.00 Pi | 2750.00 P | 2100.00 P 17900.00 I
=HOHAS PRI P —014 | —038 0.3 —0.58 —0.77 —0.92 —1.06 T 06
JPADE 2K [ £1.50%] E 0.61 0.77 0.02 -0.03 0.28 0.23 0.89 0.49
3 T00.60L 1 | 86.80C 1 1 10090L T | T07.00L T [ 10050C 1 | 10050C 1 | 10080L 1 100700 1
0.8 m/h} 100.00L Q V 080 =0.10 0.90 1.00 050 050 080 0.70
INEI BAEX Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
ex _ 7.30 Ti1 7.30 T 730 I 1730 Tl 7.30 T 730 T 17,30 T 17350 Ti
w & |THOHSEXREIAT 000 0.00 0.00 .00 0.00 0.00 0.00 000
. . 350000 Pi] 3150.00  Pi | 3170.00 DPi| 3170.00  Pr 1 315000 P 1 310000 Pr 1305000  Pr 1300000 P
| FEHOEYEANEBA P ~0.10 ~0i4 —0.72 =0.12 —0.14 —0.19 —0.04 =059
JEADIE 2K [ +£1.50%) E 0.56 -0.18 0.84 094 0.42 0.37 0.62 0.47
m'/h
& BEX Es
£ OIE S XS E Al P
NANEH A ( %] E
WEIJIZE © Qmax ([ +/- 1.5%) M HI () Af [297mm x 210mm}
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HEAUL 2018/06/11 48 I : M HII(F)
, - 9 AE(%)=V+Es+ T+P  T(%)=Tq-Ti/273+100
™ - | G2.5 AN YN ’ . .
V()=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t7)+*100
NE\EIJEETq Qmax 0.2Qmax JIE=J| e & P Qmax 0.2Qmax
i‘c) 7.30 7.30 (ral 3200 3300
o - 139311 133311 133311 133311 133311 133311 133311 133311
A w @ 018255 067967 056003 045150 055893 055980 043330 062283
. TOI60L T | 10950 1 | 10100 1 | 1018300 T [ 101.50L T | 10150 1 [ 101.70C 1 _J102.40L 1
4.0 m/nf 10000L Q V 150 150 730 1.30 150 1 150 770 1 574G
ABEI BEN Es ~0.55 ~0.55 -0.55 ~0.55 -0.55 ~0.55 ~0.55 -0.55
-3 N o Sp— Ti| 7.30 Ti | 7.0 Tl 730 T [ 7.30 1 1 730 Ti 1 7.30 T 17.30 T
n a4 |THNHEENSIXT 0.00 .00 900 0.00 000 000 000 0.00
| . WA —3050.00 bl 280000 bPil 275000  Pi | 2600.00 Py | 2400.00  Pi | 2250.00  Pi | 2100.00 P 1190000  Pi
FHNHASGE X P 0.4 —0.38 _ =0.43 —0.58 ~0.77 —0.92 ~1.06 —1.26
SIADIE 2K ( £150%1  E| 081 057 0.12 0.17 0.18 027 0.09 059
3 T0030 0 1T | 100800 T | 107000 1 | 0l T ol 60 T TT0060 T [T0080L 1 1700400 T
0.8 m/h} 100.00L Q V 530 | 030 770 100 7501 .90 ga0 1 0.40
IS BEA Es 0.06 | 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 % \ — 730 Ti | 7.30 Ti] 7.30 T 750 1750 T 730 T 17350 T | 7.30 T
W a4 |THOHSEARZZINT 0.00 | 0.00 0.00 0.00 0.00 000 0.00 0.00
. — T 3500.00_DPi] 315000 Pi| 8170.00  Pr 1 3170.00  Pr 1 315000 br | 3100.00  Pi | 306000 Pi | 300000 P:
=HIHANGLREA P ~0.10 —0.14 =0.12 .12 014 ~0.19 —0.24 =009
JADIE 25 [ +1.50%) E 0.26 0.22 1.04 0.94 0.92 0.77 0.62 0.17
m'/n}
AEH BEN Es
N |sunBesuzaxT
A0 E =S H A P
JADIE @A [ %] E
AMHIINF) AA [287mm X 210mm)

mAEIIE - Qmax [ +/- 1.5%]
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d38 8 X 2018/06/11 M X HLATNE)
. QAE(%)=V+Es+ T+P T(%)=Tq-Ti/273%100
7 #A G2.5 HOA A ’ > :
_ V(%)=1-Q/Q+*100 P(%)=Pi-Pq/Pi+ o7 ¢}*100
INEINEE Tq | Qmax 0.2Qmax JEJ|2E pg Qmax 0.2Qmax
1°ci 7.30 7.30 [Pal 3200 3300
| o 133311 133311 133311 133311 133311 133311 163311 133311
72 & H 062178 023830 067958 066839 067483 032601 160577 031953
2 100.60L 1 | 1006500 1 | 101600 T | 101000 I [ 10140 1 13071200 1 705700 T 170230 I
40 m/hi 100.00L Q V 060 G50 .60 706 40 ) 530 530
&I A A Es -0.55 | ~0.55 -0.55 -0.55 -0.55 -0.55 ~0.55 -0.55
2 —— 730 Til 7.30 1756 Ti1 7.30 Ti | 7.30 T | 7.30 750 Ti 17.30 T
W a |THUHESREZAT 0.00 0.00 000 000 000 000 | 500 000
\ 305000  Pi| 2800.00  Pi| 2750.00  Pi| 260000  Bi | 240000 bi ] 225000 b | 210000 PT |1906.00 b
= HEANAAE I P —0.14 —0.38 ~0.43 —0.58 <077 —0.97 —1.06 76
JHATIE 2R [ £1.50%) E -0.09 -0.43 0.62 -0.13 0.08 -0.27 049 0.39
v PPV T 700.70C T 1 100800 1T 1 70040C 1 [ 700800 1 1907000 1 [ 700760 1 1700700 1 |70090C i
0.8 m’/hy 100.00L Q V 070} T80 0,40 090 100 670 770 0.90
@7 AN Es 0.06 | 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 1 7730 T 7.30 T 7.30 T 7.30 T T 7.30 T | 7.30 T 1 7.30 T 1730 T
oo |TEIHESRZINT 000 0700 0.00 0.00 0.00 000 0.00 0.00
320000 Pi] 3150.00 Pi| 3170.00  Dbi | 817000 P | 315000 bi | 310000 P 1305000 B 1300000 i
=HNEHANGRBA P =570 =014 =N —0.12 ~0.14 ~519 ~0.04 ~0.59
JbADE 2R [ £1.50%] E 0.66 0.72 0.34 0.84 0.92 0.57 0.52 0.67
m3/h
IET BEX Es
ex [T
SHOEYSEAE R P
INADE SR [ %] E

md=E

> Qmax [ +/- 1.5%)

AL HIIEF)

AZ [297mm X 210mm}
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Ha=HS J|1&=7| : 531628 HASE eg 73 ¢ &K% 55 LA
FPEL RS 2018/06/11 NERS 2HI(F)
: o ©AE(%)=V+Es+ T+P  T(%)=Tq-Ti/273*100
7 4 G2.5 WM A 0 o
V(9)=1-Q/Q*100  P(%)=Pi-Pa/Pi+ ¥17]$*100
= £ Ta Qmax 0.20max JI=71eH P Qmax 0.2Qmax '
[°ci 7.30 7.30 pral 3200 3300
- 133311 133311 133311 133311 133311 133311 133311 133311
P& 2 068089 067490 041942 067835 068080 067587 067968 | 044846
3 SoE0 T T [ T0n60 L L jordot L {Tof.70t 1 TR0 T | f0im0 LT _|10280C 1 1701301 [
4.0 m’n| 100.00L Q V 080 150 110 770 760 130 5301 130
J1EH BEX Es ~0.55 -0.55 -0.55 ~0.55 -0.55 -0.55 -0.55 -0.55
O mmro ool T, L:30 Ti[ 7,30 T | 7.30 i1 7.30 Ti | 7.30 T | 7.30 1 [7.30 Ti [7.50 T
n A SRNESERLEN T 000 000 000 000 000 000 0001 50
. — — 55550 vl 2500.00 Pi| 275000  Di| 260000 _Ei} 2400.00 ST 555000 b | 2100.00 P | 1900.00 _ Pi
SN HYSAEAXP ~0.14 —0.38_ -0.43 -0.58 =0.77 —0.92 —1.06 —1.26
JFATE KA [ £1.50%] E 0.11 0.67 0.12 0.57 0.28 -0.17 0.69 -0.561
3 — ST T | 10090 1 | 100400 1 {"100.80L L 1 10060~ o700 T [ 70050L I 1101.20C 1
0.8 m/n| 100.00L Q V XS 050 —540 ) 00 0E 60 050 1754
i@ BN Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2R o recnat 750 il 7.30 T 7.30 1| 7.30 Ti 1 7.30 i [ 730 T 730 i 1730 T
o A SHNHSEAESAT 0.00 .00 0.00 0.00 000 000 | 000 [ .00
_ . 0700 T 315000 Pi| 317000 Pi| 317000 Pi ] 8150.00 ST 370000 Pi | 306000 _Pi_|8000.00 _Pi_
SUNEHANYEFTAP —010 —0-14 —512 —0.17 —5.14 .19 004 0.9
JpADHEl 24 [ £1.50%] E 0.56 0.82 0.34 0.74 0.52 0.87 0.32 0.97
m*/h &
JIEN BEX Es
28 |ruusesamanT
S NEAEALEA P
NABE 2K [ % E
mx 7= : Qmax [ +/- 15%] MHINF] A4 (287mm X 210mm}
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LR 2018/06/11 Mo T EVPICS
QRAE(B)=V+Es+T+P T(%)=Tq-"Ti/273+100
= | G2.5 H 44 ’ o : .
V(%)=I-Q/Q*100 P(%)=Pi-Pq/Pi+ 7] +100
JEIJESE Tq Qmax 0.2Qmax JIE=EJ| 2 Pg Qmax 0.2Qmax
[°c} ' 7.30 7.30 [Pal 3200 3300
- 133311 133311 133311 133311 133311 133311 153311 133311
1 & B 023722 042405 032235 032221 042514 068082 095366 042425
3 T0080L 1 | 100500 T | J01.00L T 1 101.300C 1 | 101.40L 1 | T01.50L T [101.50L I_ [102.20L 1
40 m/hf 10000L Q@ V 580 050 100 130 40 150 756 550
J1E7 BEX Es ~0.55 ~0.55 ~0.55 ~0.55 -0.55 -0.55 -0.55 ~0.55
(=2 (RN po— ‘ 7.30 T 730 T 730 i1 730 T | 7.30 T 7.30 T1 1 7.30 Tt 17.30 Ti
N 4 |THIHESNZZINT 000 0.00 500 000 000 0.00 0.00 0.00
. . 3050.00  Pil 280000 Pi | 275000 Pi 1 260000  Pi | 2400.00  Di 1 2950.00 P | 210000 Pi | 1900.00 P
HolggRA=EN P 074 ~0.38 —5.43 —0.58 —6.77 007 —1.06 76
JEADIE 27 [ £1.50%) E 0.11 -0.43 0.02 0.17 0.08 0.03 -0.11 0.39
3 — 700900 T | 100600 1T | 70700 1 | 10080 1 101200 1 [ 10100 1 110070 T 1075011
0.8 m/h} 100.00L Q 'V 090 0.60 700 080 7750 0 0.70 120
&I BREX Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 - 7730 T 730 Ti | 7.0 Ti [ 7.30 T 1 7.30 T 730 1730 717730 oy
o & |THUHEEARSIAT G50 0.00 0.00 000 | 0.00 .00 0.00 000
- . 350000 Bi | 315000 Pi | 317000 Pi | 377000 B | 3150.00 Pi | 3100.00 Pi | 3050.00  Pi |3000.00 B
THOEHARYTZAP ~6.70 | —5.14 —0.10 =N —0.14 —0.19 ~0.24 ~0.29
JHATIE 2K [ +1.50%] E 0.86 0.52 0.94 0.74 1.12 0.97 052 097
m'/h
INEN X Es
xR |
¥ a | SUNEHSEXSFER T
SHOES=EAEEA P
INANE 2R %) E

mAEJIE : Qmax [ +/- 1.5%)

UL HIIF)

Al [297mm x 210mm}
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HEMY J1Z=7| : 531628 A3 2F 73 ¢ &E55 %
HE X 2018/06/11 KR AHIN(F)
— , QAE(%)=V+Es+T+P T(%)=Tq-Ti/273+100
F 4 G2.5 ) - i ot
V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t7]1*100
JfE_?lEE Ta | Qmax 0.2Qmax JIEIes Pa Qmax 0.2Q0max
[°c) ] 7.30 7.30 [Pal 3200 3300
I 133311 133311 133311 133311 133311 133311 133311 133311
7R u = 032574 022378 023119 042370 022990 | 046340 087311 032132
3 0050 T T 1 o140 T 1 10050 L | 10180 1 | 101.20L 1 | 101.50L 1 | 10240 _1 [10i.90C L
40 m/n} 100.00L Q V 050 1740 0.50 150 7207} 150 5.40 1,90
HEH BHK Es ~0.55 ~0.55 -0.55 -0.55 -0.55 | ~0.55 ~0.55 -0.55
2 X e 730 T 7.30 T 7.30 Ti [ 730 Tl 7.30 T 730 T 17.90 71 [7.30 T
»on |FTUUNHSSEXRIAT 0.00 000 0.00 000 000 0.0 000 1 000
- P 15050000 B 280000 PL| 2750.00  Pi| 2600.00  Pi | 2400.00 _ Pi | 2250.00 Pi | 2100.00 Pi [1900.00 _Pi
SHUNHASHZRNP 014 038 ~0.43 ~0.58 0,77 .97 —1.06 | 1726
JHATIE 23X { £1.50%] E -0.19 047 -0.48 0.37 -0.12 0.03 0.79 0.09
3 p TSTO0 L T | 90090 LT | 100.90 L 1 [ 101,00 L I | 101.i0T I | 100.70 L T [ 70050 C_1 }700.90L 1
08 m/nf 100.00L Q@ Vv 100 .90 030 100 10 570 550 590
JET BEN Es 0.06 0.06 0.06 0.08 0.06 0.06 0.06 0.06
A [mmme 1 7.30 T 730 i1 7.30 1 7.30 T 730 T | 7.30 T 730 T 17.30 T
w a |FTHOUHESERZIAT 000 000 0.00 0.00 .00 000 | 000 0.00
— 50000 bt 575000 Pr 1 317000 Pi| 317000  Pi | 3160,00  Pi | 3100.00__Pi | 3050.00 Di [8000.00 _Pi
SHUHSSALZIA P =0.10 —0.14 —0.12 —0.12 —0.14 5719 —0.04 ~0.29
JpANE X { £1.50%] E 0.96 0.82 0.84 0.94 1.02 0.57 0.32 0.67
m'/h :
e\ BEA Es
LA i ; —
XA |FUUHESSREIAT
O EHASHASE S A P
JNADIEH X [ % E

mEIJE  Qmax [ +/- 1.5%)

LLADIEF]

Al [287mm X 210mm]
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HH YL 2018/06/11 MM T MRAINF)
_ ‘ . QAEG)=V+Es+ T+P  T(%)=Tq-Ti/273*100
= | G2.5 H AN § R
V(9%)=I-Q/Q*100 P(%)=Pi-Pqg/Pi+ 714+ 100
N=INEETA Qmax 0.2Qmax JI=J12 S Pa Qmax 0.2Qmax
& . 7.30 7.30 [Pal 3200 3300
T 133311 133311 133311 163311 133311 133311 133311 133311
7 =M 032245 087211 042350 129226 042510 032609 032084 | 032297
; TS L T oT40 L T | 100.60 LT | 10140 L 1 | 107.40C T | 701.00L I |101.70C 1 |101.80C 1
4.0 m/n} 100.00L Q V 530 140 .60 {740 7401 700 1 170 T80
IEN BEA Es ~0.55 ~0.55 -0.55 -0.55 -0.55 | -0.55 ~0.55 -0.55
2R |mmmmocammn ol 7.30 Tl 7.80 T 7.30 Ti 1 730 T 1 730 T 1 7.30 T 1730 T 17.20 T
x a |THUHESREZIT 0.00_ 0.00 0.00 000 000 1 000 000 1200
e 305000 PT| 7800.00 __Pi| 278000 Pi| P600.00 _Pi| 2400.00 __Pi| P50.00 DI 1270000 Li[T50000 Pi
FHNHSSASIAP =014 | =038 ~0.43 0,58 =077 | 002 =10 176
JFAE EIl [ +1 50951 B -0.39 0.47 -0.38 0.27 : 0.08 -047 0.09 —0.01
T ST T T 6T 00 L T T 16T00 L T [ 100.70 L T | 10070 1 [ 100.80L T | 10110L T Ji01.20L 1
08 m’m| 100.00L Q V 080 700 50 570 710 0.80 130 756
NET BEN Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.0
e & — 730 T 7.30 i1 7.30 T | 7.30 i1 7.30 TT 1 7.30 T 1730 T | 7.30 T
N o |FTHUHEERZZEIT 000 0.00 0.00 0.00 0.00 000 000 0,00
- 50000 il 315000 DLl 317000 Pi| B170.00  Pi| 8150,00 _ Pi | 3100.00 Pi | 305000 _DPi _|3000.00 i
e EHS=AEZAP —0.10 .14 —0.17 —0.12 —0.14 ~5.19 ~G.24 ~579
NAME 2R [ +1.50%] E 0.86 0.92 0.94 0.64 1.02 0.67 0.92 097
m’/h
NEN REX Es
X |sunEESNEENT
LU EHEAEEA P
JNADIE SR [ % B
: Qmax (+/- 1.5%) MHI7I(E] A& (287mm x 210mm}

mEIE




in
ANHAEINE X
AWE J1z=7| ¢ 531628 HAIEA ex 73 ¢ =55 %
HE Xl 2018/06/11 M MHINF)
. O AE(%)=V+ Est T+P  T(%)=Tq-Ti/273+100
7 A G2.5 H & Al 0 ” _
V(%)=I-Q/Q*100  P(%)=Pi-Pq/Pi+ t7] 3+ 100
IN=JIEE Tq Qmax 0.2Qmax ' JEIIAH Pq Qmax - 0.2Qmax
[°cl ‘ 7.30 7.30 [Pal ' 3200 3300
Ao e 133311 133311 133311 133311 133311 133311 133311 133311
I & ® 056232 023819 087318 013908 022454 013929 023154 055462
i T3 T T T 0TZ0L T | 1007001 | 10080L T | 101.80C_ 1 | 10200L I 70170 L T [70T.50L I
40 m/h} 10000L Q V 1.20 120 6.79 0.80 180 7,00 170 750
JEN BE K Es -0.55 | ~0.55 -0.55 ~0.55 ~0.55 -0.55 -0.55 ~0.55
e i — - 7730 T 730 T 750 T [ 730 T | 7.80 T 1730 Ti 1730 T 1730 T
3 a4 |TOUHBRSERSEXT 0.00 000 000 000 0.00 0.00 G100 0.00
5505 Pl 280000 Pr | 275000 Pl | 760000 _ Pi | 2400.00 _Pi | 2250.00 _Pi | 2100.00 P }7800.00 _Fi
SR O HASNAZIEA P 014 —0.38 —0.43 —058 | —0.77 —0.97 ~106 106
HADEH QA [ £1.50%) E 0.51 0.27 -0.28 -0.33 0.48 0.53 0.09 -0.31
; 5550 T T {70080 T [ 10090 L 1 | 10080L 1 | 101.00L T | 10080L I 01200 T "T701.00L 1
0.8 m/nj 100.00L Q@ V 0.90 0.80 530 330 00 980 120 700
&= BRI Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
e - 7.30 T 730 T 7.30 T 730 T [ 7.30 T [ 7.30 T 1730 T 17.30 X
W n |(THNHEEAEEAT 000 0.00 0.00 .00 0.00 0.00 000 0.00
. 55500 Dl 515000 Pr| 317000 Pi| 317000 Pi| B160.00 Pi | 3100.00 Pi |3050.00 _Pi [3000.00 i
SHOHANAEZA P =0.10 —0.14 ~0.32 ~0:12 —0.14 ~5.19 ~5.54 ~6.29
NHAOE 2K [ £1.50%] E 0.86 0.72 084 0.84 0.92 0.67 1.02 0.77
m’/h
&I BEA Es
2R |cunsesszanT
SHUNEARAE A P
JNABIE S [ % @ E

mAI=E : Qmax [ +/- 1.5%]

LA

Ad [287mm x 210mm}
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ANHAEHAEINE I
= o = B J|Z)| : 531628 HAeH 2% 73 °C &E55 %
HEYTL 2018/06/11 8= MAHIN(F)
— , © AE(%)=V+Bs+ T+P  T(%)=Tq~Ti/273+100
g A G2.5 ) N .
: V(%)=1-Q/Q*100 P(%)=Pi-Pa/Pi+ ) 7] +100
N=EJNSE T Qmax 0.2Q0max N=J19™ Pa Qmax 0.2Qmax
°e) 7.30 7.30 (Pa) ' 3200 3300
o 133311 133311 133311 133311 133311 133311 133311 133311
7N oM 013687 013805 056320 032193 032029 013783 014495 013856
T o050 T T 10080 1T | 10780 L 1 | 10170 T [ 101.20C I [ 101,00C 1 10140 T Yi0220L I
4.0 m/hf 100.00L Q  Vr 050 .60 %0 730 150 7700 740 530
J@IL BAE A s -0.56 ~0.55 -0.55 ~0.55 -0.55 -0.56 ~0.55 ~0.55
10 R P ————— R T T 7.30 T 7.80 T 7.80 Ti | 7.30 T 1 7.30 T 17.30 T 17.30 T
An |FHUHBERSEXT 000 | 0.00 0.00 5:00 5,00 000 000 0:00
S T — 05050 Pl PE00.00 P 275000 PL| 260000 Di| 2400.00  Pi | 2250.00 _Pi [ 2100.00 _Pi |1960.00 _PDi
FHIHSSRAERENP 014 | —0.38 043 0,58 0.7 0,92 106 176
JHATIE @Xt [ +1.50%) B -0.19 -0.33 052 -0.03 -0.12 -0.47 -0.21 0.39
N ' e 090 T | 10110 L T | 100.50L 1 [ j00.65C 1 170070 T _{fo080L 1 T70T20L I
0.8 m/hj 100.00L Q V 580 080 170 050 065 070 586 750
NEI BWAN Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
2 & e n 7730 T 730 T 1730 T 730 T3] 7.30 i [ 730 T [ 730 T 1730 T
¥ a4 |TEHUHEERZZAT .00 000 0.00 .00 0.00 000 000 T 000
' — 50000~ P 315000 Pr| 317000 Pi | 3170.00  PL| 3150.00_ Pi | 3100.00 _Pi | 3050.00 _Pi [3000.00 _Pi
= NEASNATZEA P =510 ~0714 ~0.12 =P ~034 | ~5.19 —0.24 ~5759
JpADIE 23} [ +1.50%] E 0.76 0.82 1.04 0.44 0.57 0.57 0.62 0.97
maf'h.
J1E] A Es
¥ 4 |FHUHSSXESA T
s 0 EHYEAEEA P
HADBE 2K [ % E
D Qmax [ +/- 1.5%) MHIF) Ad [297mm X 210mm}

mdlE
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HEHT JIED| - 531628 - PAL ] g 73 "¢ =55 %
L Ry 2018/06/11 M B I} 12371 (=)
- 2 crs o & SAE(%)=V+Es+ T+P  T(%)=Tq-Ti/273+100
| ' -7 V(%)=1-Q/Q+100  P(%)=Pi-Pq/Pi+ tl7] &+100
JNTIIRE T Qmax 0.2Qmax WEYIE L RD Qmax 0.2Qmax
i°cl 7.30 7.30 {Pal 3200 3300
o 133311 133311 133311 133311 133311 133311 133311 133311
7 & ¥ =2 021950 033450 033164 056796 022980 022613 003731 023107
3 76T T 107000 T | 100500 1 | 10090L 1 | 107,50 T [ 101.80L 1 [701.80L I [102.0L I
4.0 m/np 100.00L Q V 670 100 050 090 750 180 80 710
IEI| BAN Es ~0.55 ~0.55 —0.55 ~0.55 ~0.55 ~0.55 ~0.55 —0.55
)sas g_ canAssxnzen 1| L0 T 7.30 T 730 70 {790 T 730 780 780 T
—— 55000 Pl 780006 - Pr| 275000 DT | 2600.00  Pi| P400.00 Pi | 2250.00 PL | 210000 _Pi | 1600.00 _Pi
FEHOHSMAS X P —0.14 —0.38 ~43 —0.58 077 090 —1.06 ~{56
JPAOIE 2K [ +1.50%] B 0.01 0.07 -0.48 -0.23 0.18 0.33 0.19 0.29
; S5 T T To0 70 T 1 100700 T | 70080 L I | 101.00C T | 100.80L 1 [100.70C T _[101.30L 1
0.8 m/hf 100.00L Q V 640 070 070 080 700 080 070 130
&I R Es 0.06 0.06 0.06 0.06 0.06 0.06 0.06 0.06
i g canHsERREa T L0 T 7% T 30T 73Tl O VN WA T T T 730 T
55055~ il 3750000 P 317000 DL | 8170.00  Pi | 8150,00 Pi [ 3100,00 Pi | 8050.00 Pi | 3000.00 DI
SEHNEARGEBA P ~5710 ~G14 ~517 517 —514 —0.19 —0.04 =529
FAADIE 2K [ £1.50%] E 0.36 0.62 0.64 0.74 0.92 0.67 0.52 1.07
m’/h
HEI BEHA Es
% g 20 HREAREA T
ZHMEHAEAY AP
JNADEH 2% ( %) B

mMI|E : Qmax ([ +/~ 1.5%]

LL2AHDIF

Ad (287mm x 210mm!}
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HrHE J1Z7| : 531628 - 983 25 73 0 &E55 %
HEET 2018/06/11 M8 X AMHI|(F)
_ O AE(%)=V+Es+T+FP T(%)=T -Ti/273%100
7 2 G2.5 ANy ’ .
; V(%)=1-Q/Q*100 P(%)=Pi-Pq/Pi+ t7] 100
NEIIRE T | Qmax 0.2Qmax ﬂEJI_Qﬁ Pq Qmax 0.2Qmax
[°C) 7.30 7.30 [Pal 3200 3300
| - 133311 133311 123311 133311 133311 | \25H2 AIRYAT! V2301
& u 056784 033209 126184 013672 021791 | oXHPs 8577 o}
3 5650 1 | 700700 1 | 100.60L 1 | 107.00L [ | 10150L 1 |
4.0 m/nhf 100.00L Q V 030 370 0.60 100 150
&I PRA Es -0.55 -0.55 ~0.55 ~0.55 -0.55
2 R - ; 1 7.30 Ti} 7.30 Tif 7.30 Ti| 7.30 Ti| 7.30 Ti
A a |THUHSSREEXT 000 3.00 000 0.00 000
. TO5000 - Pl 280000 Pi | 2750.00  Di| 2600.00  Pi | 2400.00 Pi
SUOHASNMEZAA P —0.14 —0.38 —0.43 —0.58 ~0.77
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5 ; 00 E0 L T | 70090 1 | 100.80L I | 100.60L 1 | 10070L 1
0.8 m/h] 100.00L Q V 0.60 090 ) 580 070
NEN BEX Es 0.06 0.06 0.06 0.06 0.06
2 [ 7730 T 730 T 730 1730 T [ 730 T
» a4 |FTHONHSERSEANT 0-00 .00 000 000 000
500065 b 3TE0.00° Dil 317000 Pi| 317000 Di | 3150.00 D
SUNHARGEIA P ~5010 “0714 512 5718 —G14
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INEI LB Es
2% |suunssxwanT
YOS gESAP
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Qmin A H 72| £ X

[FAgzmn_ | o025 | 7 4 G25 R ]
2 MY 2018-06-11 NEX R | nENE 3% civiepa) | 101340
g = 73 °C & k 55% 27|1Z0[H 537305
Bench no. 1 2 3 4 5
SADEHENY | 10.10 10.00 10.20 9.90 10.10 10.00 9.90 10.10
7|0l B S0 Q 1000 10.00 10.00 10.00 10.00 10.00 10.00 10.00
MEZE V=(/-0)/QX100 1.00 0.00 200 -1.00 1.00 0.00 -1.00 1.00
7|&= 0 B 2| Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0,33 +0.33
;L JIEDE2E Tq 7.30 7.30 7.30 730 7.30 7.30 7.30 7.30
A ZZO0H2E Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A SERK|(%) T=(Tg-TH/273X 10 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| &0 Y= (Pa) Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
2=740|E{ Y H(Pa) Pi 1750.00 1788.89 1827.78 1866.67 1905.56 1944 .44 1983.33 2022.22
SreE K| P=(Pi—Pq)/(PiL+PAX100 -073 -0.69 -0.65 -0.61 -0.58 -0.54 -0.5 -0.46
715 E=V+Es+P+T 0.60 -0.36 1,68 -1.28 0.75 -0.21 -1.17 0.87
= A (x3%) e} o) Q Q 0 0 0 0
Bench no. 9 10 12 13 14 15 16
A0 e &2 { 9.90 10.10 10.00 10.10 9.90 10.10 9.80 9.90
7| =0l S0tE Q 10.00 10.00 10,00 10.00 10.00 10.00 10.00 10.00
i = v=([-0)/GX100 -1.00 1.00 0.00 1.00 -100 1.00 -2.00 -1.00
7| E=01E2EA Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
il 7J1Z0H2E Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
7 0 H2E Ti 7.30 7.30 7.30 730 7.30 7.30 7.30 7.30
A S o HAX|(%) T=(Tq-Ti}/273X 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| &0/ Y H(Pa) Pg 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
Z=740| E{ 2 (Pa) Pi 2061.11 2100.00 2140.00 2180.00 2220.00 2260.00 2300.00 2340.00
Sre{p @K P=(Pi—Pq)/(Pi+PA)X100 -042 -0.39 -0.35 -0.31 -0.27 -0.23 -0.19 -015
214t E=V+Es+P+T -1.09 0.94 -0.02 1.02 -0.94 1.10 -1.86 -0.82
E B O(£3%) o) 0 0 o) o) 0 o) 0




[ZAgZm3n__| 0025 | B 7 3 G2.5 R ]
ZAg 2018-06-11 eV G BHIIE ] + 3% CA7(2hpa) | 101340
2 £ 73 C 5 & 55% Atg71E0H 537305
Bench no. 17 18 19 1 3 4
I T3oaT00757 | 13311025376 | 134311028392 | 139311035 ST 00319 | 1At 018723 | 139311018322 | 139311018565
A0 HELE ! 10.00 1010 9.90 10.00 10.20 10.00 10.00
7i=0|H Bt Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00
DRE V=(1—() QX100 0.00 1.00 -1.00 0.00 200 0.00 0.00
7|Z0|E 2R Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
ilr RS Tq 7.30 730 730 7.30 7.30 7.30 7.30
2 FHOHEE Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A S YK T=(Tq-TH/273X100 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| =0[E| g & (Pa) Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
S 0] H &3 (Pa) Pi 2380.00 242000 2460.00 2500.00 1750.00 1788.89 1827.78 1866.67
org{E k| P=(Pi—Pq)/(Pi+PA)X100 -0.12 -0.08 -0.04 0.00 -073 -0.69 -0.65 -061
2\xF E=V+Es+P+T 0.21 1.25 -0.71 0.33 160 -1.36 -0.32 -0.28
by B o(£3%) 0 o o)
Bench no. 5 11 12
eds 129311024206 | 174311018 7 . : 11018278 | 130311018323 | 139311047949
Eell=E=ni =, | 10.10 10.10 10.20 9.90 10.00 9.90 10.00 9.90
J|E=0[EHENE Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
nEE v=(I—0)/QX100 1.00 1.00 200 -1.00 0.00 -1.00 0.00 -1.00
7|Z0HEHA Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
; : 71ZEOE2E Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 A0 E2E Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
A 2 g% T=Tq-Ti)/273X100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| =0|E 2 E(Pa) Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
4=Z0[E{ 2 =(Pa) Pi 1905.56 1944.44 1983.33 2022.22 2061.11 2100.00 2140.00 2180.00
orei ™ k| P=(Pi—Pq)/(Pi+PA)X100 -0.58 -0.54 -05 -0.46 -042 -0.39 -0.35 -0.31
71 % E=V+Es+P+T 0.75 0.79 1.83 -1.13 -0.09 -1.06 -0.02 -0.98
= H (x3%) 0 o o) 0 0 0 o) o]




[ZNgEmsn | 0025 | [ 7 4 G25 R ]
2R 2018-06-11 e l BHHIE ] £ 3% oj7jeipa) | 101340
e = 73 °C & = 55% Atg7|E0H 537305
Bench no. 13 14 15 16 17 18 19 20
Tgde ST | TSRO0 | RGOS0 | 139311048055 | 139311064903 | 13951101252 74311024802 | 139311034135
A0 HENH [ 10.00 9.90 10.10 10.10 9.80 10.10 10,00 10.10
7j&=0|e e Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00 10.00
S V=(I-Q}/QX100 0.00 -1.00 1.00 1.00 -2.00 1.00 0.00 100
7|Z0[E{BF X Es +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33 +0.33
i'} RS Tq 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
2 20/ 2E Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30 7.30
At e HAA G T=(Tg-TH/273% 100 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7|=0j e 2t (Pa) Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500,00 2500.00 2500.00
2= Z40[E{ Y H(Pa) Pi 2220.00 2260.00 2300.00 2340.00 2380.00 242000 2460.00 2500.00
Sre{mAK| P=(Pi—Pq)/(Pi+PA)X100 -0.27 -0.23 -0.19 -0.15 -0.12 -0.08 -0.04 0.00
PPN E=V+Es+P+T 0.06 -0.90 1.14 1.18 -1.79 1.25 0.29 1.33
o H (£3%) 0 o) 0 0 0 0 0 0
Bench no. 1 2 3 4 6 7 8
>HOHENE l 10.20 10,10 10.10 10.20 10.20 990 )
7\=0|H &0t Q 10.00 10.00 10.00 10.00 10.00 10.00 10.00
Il v=(i—Q)/QX100 2.00 1.00 1.00 200 2.00 -1.00 1.00
7|Z0|E YA Es +0.33 +0.33 +033 +0.33 +0.33 +0.33 +0.33
;L J=0EHEE Tq 7.30 7.30 7.30 730 7.30 7.30 7.30
A +H0|HSkE Ti 7.30 7.30 7.30 7.30 7.30 7.30 7.30
At SomER|(9%) T=(Tq-TH/273X100 0.00 0.00 0.00 0.00 0.00 0.00 0.00
7| &=0i & 2 (Pa) Pq 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00 2500.00
20| ¢E(Pa) Pi 1750.00 1788.89 1827.78 1866.67 1905.56 1944.44 1983.33 2022.22
St B K| P=(Pi—Pq)/(Pi+PA)X100 -0.73 -0.69 -0.65 -0.61 -0.58 -0.54 -0.5 -0.46
2K E=V+Es+P+T 1.60 0.64 0.68 1.72 -1.25 1.79 -1.17 0.87
ot BO(+3%) 0 0 0 o) o) 0 0 o]




[Zaszman | 0.025 H [ 7 3 | G2.5 R

Rk 2018-06-11 HLH 7\ By | + 3% oizigea) | 101340
e k 73 °C & = 55% A 27|Z0H 537305
Bench no. 9 10
g E = e T ] B
+HolH SN 1 10.10 10.00
7|Z=0[E1 82 Q 10.00 10.00
neEE V(=) /(X100 1.00 0.00
7|Z0IHEF KN Es +0.33 +0.33
;L J|E0H2E Tq 7.30 7.30
2 +ZH0/E2% Ti 7.30 7.30
At SCemA| %) T=(Tq-Ti)/273X100 0.00 0.00
7| Z0[E 2 (Pa) Pq 250000 2500.00
2 Z{0|E{ Y H(Pa) Pi 2061.11 210000
ot K| P=(Pi—Pq)/(Pi+PA)X100 042 -0.39
71A E=V+Es+P+T 0.91 -0.06
= A o (£3%) o} o)
Bench no.
B M=
70/ E{ S0t [
7| E0HELHE Q
nEE y=(I—0)/Q¥180
7| Z0E £ A Es
EEEES Tq
o [FavEes T
A %EE@X[(%) T=(Tq—-Ti)/273X 100
© [ FrEoEEPs) -
=7{0[E{ & E(Pa) Pi
STHE A P=(Pi~Pq)/(Pi+PA)X100
7| &k E=V+Es+P+T
Et H (+3%)




